BHBANTEINMIRETY ., BBANTEGVRESLRE - FRBHARBITVEY.

-+ — Ay 4ot 7= =
5']@51@&%@ PR _ _ g B 17 5t B T Bl A BITET EE ChRGELET, 3
) 58 68 88 _9}3 108 118 128 18 28
S 17&¥ 1 1 | ERERRE (~128) [1 1 1| RRHES e 1 EEEEES 1 [7t8 1 | FERRERZ 1 .
K & A IS T W X =] W & | FREATE =i =i
2 2 |BREe=8 2 2 2 2 [V CHEES) 2 | mEBEE 2 [8BR7 2~ BEF=R) 2 |PRBEZER 2 |ZRErE 2 2 [ RUISRAGETR
7N + W ZN =] K & A K T W W|2EER
BE GRS 3 | & Ee=E 3 RIEEERE 3 |PREEZER 3 3 3 [XiEn8 3 |[RAHBZER 3 |EREFE 3 3| RUISRENERE
£|(2-3F1000~ 151300~ | B 7K & A N T N N 8 K K
4 4|HEDDH 4 4 4 4 | gl e s E T - | 4 4 4 4 4 | RANHEBERIBZER 4 | RIIERBE
+ A ZN + W & =] K & A X N
5) 5/CE&n8 5 5 5 5 5| Zir5TEEA 5 5 5 5[EDFRE (1« 25) | 5[RREYR—9 —BEGH)
=] W & =] K * B|#BE8EHD X + W & &
_ ESHEENRHIE (~9H)
6 | ID - BT 6 | IRBD 6 6| PRELESS 6 | Rimbs (5h) 6 G | TR FDEESZINCEEEEE B 6 6 6
A| AR K + A K| Vv —IBKE =] W & =] K + +
7| AZER %ﬁ)\fEi% EaEx |7 7 7 RESEH( - 25F) 7| 1 FEARRER HEEETEE] 7| E=ERBA (18 7 7 7 7 7
W 3 N =] W &|FEHR A K| BEBH T A PN B B
BERSR
8 %ﬁ&g?@mﬁu 8 8 [k (6h) S|RESBH( - 25) 8 S|LEMERE (15 8[=EBA (25) 8 8 8 S[HEFE (15 8 [RFEE=
K = A 7J< + W K| BBEBHO =] W = A B
9 9 9 O [IRESEH( - 25F) 9 9 O | ZERIBA (35) 9 9 9 9 9O | RIIERBRER
x + W K| ARHEZ (35) =] K &| BBEBHD A X + W W
10| IR BIRF 10 10 10| IRFEBBH (1 - 25F) 1o|ln8 10|2HFT A~ (3FHEA) |10 10 10 10 10| RIS RIEBAT 10| ZFER
& | ERBENBIT (FEESHR) 8 K & A K| Z2EHA + W X B X K
gu%g}mﬁxgmw 58) EFRE _ _ _
11 1 11 11 11 11 11 1[ZENT A2« 35F) 1| Z2FE= 11| ADE 11[ZEzE=08 1| PER
+ A x + N & =] K| FHERRTT (146 & = N N EEZER
12 12 12 12 12| 2REATH 12 12[TRERR « EREZE[12[ZHT A (15) 12 12| 3FEAIAE 12| PEHR 12| RS
=] W & 8 K + A K| EERPAR (EPFRED) | £ W | R2EHR & & | FENNBER
13 13 13 13 IR EEERE] 13 13| BIBERER (25 |13|ZF8a 13 13 13 13| B43OEEISHESR
B RABEREZER K + A PN =] W & =] X T T
14 PRIEE 1 R 14| DELER (1H) 14 14| HIRT 2~ (EK 14| ZREATH 14 BEZER 14| BIBHHE (25) 14 14 BEZER 14 EEEZER 14 14
W PN =] W | Z2EFE= & A K + Aler=0=239r-s(~12/18 | K =] =]
BEESES 15 [BEIEES D] 15 15 15 15| BBHE (25) 15 BRREDS (/ —8hE®>—) | 15| BiEa= 15|FFRT R (35 15|FAIZAAG TR 15| IREBIRSE
K| BSHHHRZEER 2 B|PREEFZER 7K + W K| 2HFTZ~(3FHEB | B W & BessE B =
BEEEESS 6 6 e 6| BRREDD ) —Ehah>—) | 16 6| IEINE (205 RS 6 6 T6|FhILA A 6| A B O BT
7N T W K|ARZZ (15 =] X & A X + WHIAERBRAZ W
BT 17 BRRENS (/ —8EHT—) |17 17| BIRT 2~ (BERD 17 17|88 I T AT 1 /N 17 TR IR (128=A) |17 17 BRFENS (J —-8EnT-) |17 E2E8R 17|\HERE
& | PREFEER =] 7K & | REBRE A K| XEMIERE T N | BERE X B8 X X
CCADEE (2FF)
18 18 18| RAEBZER 18 18] 2 FHAIAZET 18| BHBERER T 18[ERZENS (/ —2E87—) [ 18 18| PREFZER 18 18|BIE=E 18
* A X +* W BERE & =] X & =i X X
ALTEEFT 1 ZV5RE)
19 EREENB (/ —8EHmT—) [ 19 19 19 ERZENB (/ —8EsT—) | 19| =5k (35) 19 19 19 19 19| PREFZSR 19|FAIZB A 19
=] W & =] K T B N + Py & | BEEER &
20 20 20 20| PRESR 20| =& &% (35 20 BRZREDB (/ —8BEH 7 —) | 20 20[HART R ~ (125557 [20[(eRxEN0B (/ —&bE8 7 —) | 20 20 20|FEDDH
A K + A x =] W & | PREFZER =] X + +
21 21| DELERR (3H) 21| BRSEDNB () —EEhr |21 | PREER D\ —D)D) |21 —BER (35) 21| 5E 0 BIEETIES 21 21 21 21| BRZENB () — 88— | 21 | BREEOB () —eh5E5 —)
N x =] N & A 7K + B FN B B8
22 22| DEER (3H) 22 22| 8 22 22| MDDB 22| REET\ 22 22 22| BEBIRTE 22| FFRT 2~ (12F=E) [ 22
7K %= B K| 0Y bm}%@i@iﬂ FF) |+ W | FBFEIPLE (~248) K| PREEFEES =] W & =) B
XFUGR
23 23 23| FHFE= 23] /BNOH 23 23| ZHEREHE (~10/2) |23 2F&EE 23| BB RKE DH 23 23 23| REREH 23
7N + W 7N B K| BERE & EEEZER = X T N W
24 24 24| BEEZESR 24| AIN—YDH 24| =B (35) 24| RABBEREBEZER 24 24| 3E=FFH B 24| K¥zb& 24 24 2487 « BEER
B 8 K| FRIEE 2R B A x T N X B X K
25 25| DHER (BH) 25| I8 RE 25 25| IEFRITHETN (3F) |25|PREFT 25 25| 3F=FEH (BERB) |25| 2 FHARRER 25 25| RATHEB 25| FERINE
T B X T W & EEETEESR B#ESEL |8 K & A ZN FN
— — _ PREEFZES _ _ _

26 26| DEIER (BH) 26 26 26| {BZFhRTT (35) 26 26| E R 26|3F=&H5 (BBFEB) |26 26| =Bk (1 + 208) 26|FERT R (12555 [26
8 W & 8 X + A x + WAL IRESHBER & S
27 27 27 27| FEER 27| 1BZiRTT (35 27 27 27| ZEBHE (35) 27 27| =B (1 - 25) 27 27
A K + = N B N & =] VI * *
| BRESRERE
28 28| DEIER (BH) 28 28 28| Oi@RE (35H) 28| RSN (~10/2) |28 28 28 28| =B (1 - 25) |28 28
W K =] W & A K T A N =] =]
29| BBF0DH 29| DWER (6H) 29(Bm=—0=0D 1 —2(~7/3 |20 29 29 29| BHIEHZE (25) 29 29| FREATH 29| =T (1 - 25) 29
K = K + W X B W & A
30 30 30 30 30| FEfIRHLEHZE (15 | 30| KAHHER 30| AETEME EIEZES R =] EIEEZT 30
ZN T PN =] 7K & A K * W

31 31 31| PREFZES 31 31| ZRETB 31 31

8 & B |BEES/B(~9/18) +* VN B K
"5 "5 RS RS RE RE RE RE RE "E "wE "




